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Choosing Numbers: You have an equally likely chance of choosing any integer from 1 to 50.
Find the probability of the given event.

1. An even number is chosen . 2. A number less than 35 is chosen
A | 34
z -0
3. A perfect square number 4. A prime number is chosen
VAN B s, T o 2,3,%,77, M. 13,07,19,23,29, 31,37, 81,43 ,47
50 | \S/SD = 3/,0
5. A factor of 150 is chosen 6. A multiple of 4 is chosen
/\.\60 (530 W . \ L“g'\rg“\blzo“zl—\,Zg,BZ,ab\qolkiq\q% _I_’Z_;::. o
2\'12\ (,,\ '15 s s
’a\ 0 .0 aE-3 50 = °0 2%
7. A two- digit number is chosen 8. A perfect cube is chosen
Y I
50 50

Choosing Cards: A card is randomly drawn from a standard deck of 52 cards. Find the
probability of drawing the given card.

9. The king of diamonds ~ _1_ 10 Aking H - L
52 sz 13
11.  Aspade 12 = L. 12.  Ablackcard L
52 4 2
13.  Acardotherthana2 yg _ 2 14. A face card (a king, queen, jack)
2% 4% lz .3
52 1>

Rolling a die: The results of rolling a six-sided die 150 times are shown. Use the table to find the
experimental probability of the given event. Compare your answer to the theoretical probability
of the event.

® @ e elle ollesce
o [
15. Rollinga5 27 22/ 9o ¢jecs
R, Number of
[R=Te 27 22 18 26 27 30
occurences
16.  Rolling an even number
22+ 2L+ 30 13
150
17.  Rolling a number less than 5
27+224 [B+2 6 a3
§=Yo!
18.  Rolling any number but a 3
27422+ 26+ 27430 132
\50

19. You flip a coin 80 times. You get heads 37 times and tails 43 times. What is the experimental
probab111ty of getting heads?

A) 046255 B) 05 C)  0.5375 D)  0.8605

21 - 40625
20



" Find the probability that a dart thrown at the given target will hit the shaded region. Assume
the dart is equally likely to hit any point inside the target.

20. 21. 22.
\’ 10 . ) . ,
A7z (oY10)=50 A= T (8) =64 Aoz TLD* =44T
50 -t _ -
Ap = 100 T&S = ‘,2_—.5 Ap 2 _ai(\@(g‘):w-t An =190 1A -Ha97T =
4 = | . \9 &
ot I e 3185 021410

23.  The standard archery target used in competition has a diameter
of 80 centimeters. Find the probability that an arrow shot at the target
will hit the center circle, which has a diameter of 16 centimeters.

Assume the arrow is equally likely to hit any point inside the target.

Aceter= W (Y = LU LY4T .
\60 0T

o4
9+w3d z T(40)* = \LoOT

24. A coinis tossed 100 times. It falls heads 47 times.
What is the experimental probability that it falls:

A) heads B) tails?
17 25
ToYe) o0
o4 e 53
25. A die is rolled 300 times and the results are: Result 1 12 {3 |4 1|5 1|6

Frequency | 5247|501 51|49 |51

What is the experimental probability of rolling:

A) ab B) a2 O abora2
5} - M1 98 -
= = — =.157 2z ,32061
200 l7 300 300
26. A pair of coins is tossed 500 times Result two heads | ahead and a tail | two tails
and the results are: Frequency 121 251 128

What is the experimental probability of tossing:

A) two heads B) a head and a tail )] at least two tails
5“58" = A4 fg‘o"’ - ,502.
128 - 256
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27. A fair dieisrolled. Determine the probability of getting:

A) ajor5 B) a negative integer O a9
dwde =2 2L 0
D) aresult less than 4 E) a non-five
i S

rame— ———

2 o

28. A bag contains 4 red and 3 green marbles. One marble is randomly selected from the bag.
Determine the probability of getting:

A) ared H B) agreen 3
1 1
O) ared or a green D) ared and a green
4,.2=1- O
1 + 7 -1 l

29. A 52 card deck is well shuffled, and then one card is dealt from the top of the deck. Determine
the probability that it is:

A) aJack 1oL B) anon-Jack 4% O ablack card L
52 {3 62 2
D) a diamond and an ace E) a diamond or an ace F) a diamond _1_
__‘_ e ES
52 b
52

30. = A lottery consists of 80 tickets number 1 to 80. One ticket is chosen at random. Determine the
probability that the ticket is:

A) a single digit number 94._ B) a multiple of 8
B0 S, 24,32,40,4¢%, 56,4, 72, 80
Wian = Vg
O a multiple of 5 or 8 D) a factor of 36
5,10,15,20, 29,30, 35,40 24 3 bl g
H5,50,55, (0, 05,70, 15,20 B0 218 30
3e12

%9
31.  Determine the probability that a person randomly selected in the street has his or her birthday in

A)  May | B)  February _L
2 | 2.



Use the following functions to answer questions 1 - 10.

f(x)z(xj%)2+2, h(x) = 2x — 4, g = Vx -1, j(x)=3x+5
s&vf—*‘)’l&‘"& left 4 down3 _
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bX =24+
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5. g(_x -2)-4 6. .h“l(x) N
X = 2y -4 wi)E Y XYL
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K =T

\N%-2 = 5 Yz A w2

7. h()+j(x) 8. (h-x
( 2x-9) + (3x+9) ETENYESD
Sx+ | Ly S4\DY -12X “20
bx* -2x -0
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